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jkpo;  

Mz;L 2 

 

 

nkhj;jg;Gs;spfs;: 80 

(vOJjy; 65 Gs;spfs;> thrpj;jYk; 
tpsq;fpf;nfhs;SjYk; 15 Gs;spfs;) 
 

 

gf;fq;fs;: 12 

 

Neuk;: 90 kzpj;Jspfs; 

 

ehs;: rdpf;fpoik 

 

 

 

ehs;: rdpf;fpoik 

 

 
 
 
 

 
 
 

 

 miuahz;Lj;Nju;T  

2021Æ2022 

 

 

 

 

 

   

 

  

 

 
 
 
 

 
ngau;: 

; 
jkpo;g;gs;sp: 
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gFjp 1 – vOJjy; 

 
1. vLj;Jf;fhl;ilg; ghu;j;Jf; fl;lq;fspy; cs;s vOj;Jfisf; nfhz;L 

glq;fspd;  ngau;fis  vOJf. 
 

 
v.fh.:   

 
  

            
                 

 

 

 
 

5 x  2  = 10 Gs;spfs; 
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2. vLj;Jf;fhl;ilg; ghu;j;Jg; nghUj;jkhd nrhy;iyj; njupT nra;J  
 ,izf;Ff. 
 

 v.fh.:  cotd; taiy      kd;dhu;.  

1. G+id ghy;   jha;nkhop.   

2. flypy; nry;tJ  Fbj;jJ. 

3. jkpo; vq;fs;  fg;gy;.    

4. Kj;J tpisAk; ,lk;  cOjhd;. 

 

 

 

3.  vLj;Jf;fhl;ilg; ghu;j;Jf; fPwpl;l ,lq;fspy; tpLgl;l vOj;ij vOJf. 

 

 v.fh.:    F _____ q;F     (u>  w) 

 

1. F _____ e;ij        (s> o) 

2. kh _____ tu;fs;         (d> z) 

3. njhl_____ e;J         (W> U) 

4. gs; _____        (sp> yp) 

5. jp _____ l;ir         (uh> wh) 

 

 
 

 

 

4 x  1  = 4 Gs;spfs; 

 

5 x  1  = 5 Gs;spfs; 

u 
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4.  vLj;Jf;fhl;ilg; ghu;j;J tpdhf;fSf;F tpil vOJf.  

 v.fh.:   jkpou;fspd; jha;nkhop vJ? 

 _____________________________________________________________________ 
          

1. kPl;Lk; ,irf;fUtp vJ?  

___________________________________________________________________________ 

2. vq;fs; jhafk; vJ? 

 ___________________________________________________________________________ 

3. aho;g;ghz muir Mz;l kd;dd; ahu;? 

 ___________________________________________________________________________ 

4. ntz;gdp nfhl;Lk; gUtfhyk; vJ?  

 ___________________________________________________________________________ 

5. ,d;fiyfs; ,uz;L vOJf.  

 ___________________________________________________________________________ 

 
 

5.  vLj;Jf;fhl;ilg; ghu;j;Jg; nghUj;jkhd Kbf;Fk; nrhy;iyj; njupT nra;J 
vOJf. 

  

 

 

 

 

          v.fh.:   mtd;  ____________________________                  

1. mts;          ____________________________   

2. mtd; ____________________________             

3. mtu;fs;  ____________________________         

4. mJ ____________________________               

5. mit          ____________________________    

5 x  2  = 10 Gs;spfs; 

5 x  2  = 10 Gs;spfs; 

jkpo;nkhop 

 ghbdhu;fs;   Fjpj;jd   MbaJ 

  rpupj;jhd;    Xbdhd;   ebj;jhs; 

     rpupj;jhd; 
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6.  vLj;Jf;fhl;ilg; ghu;j;Jr; nrhw;fisf; fz;lwpe;J nghUj;jkhd 
,lq;fspy; vOJf. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                          

 

v.fh.:   kapy;                     rpq;fk; 

 

1.                             1. 

2.                             2. 

3.                             3.  

4.                             4.  

5.                             5.  

 

 

 

 

k ap y; G yp nr 

 

th j; J fp sp z; 

rp G+ v U J g 

q; id nfh f; F f 

f eh fh f k; k; 

k; a; rp W j; ij 

10  x  1  = 10 Gs;spfs; 

  gwitfs;  tpyq;Ffs;  
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7. glj;ijg; ghu;j;J %d;W nrhy;ypaq;fs; vOJf. 

 

 
 

 

v.fh.:  ____________________________________________________________________ 

  

 

1. _________________________________________________________________ 

 

2. _________________________________________________________________ 

 

3. _________________________________________________________________ 

 

 

 

 

3  x  2  =  6 Gs;spfs; 

ngupa kuq;fs; epw;fpd;wd. 
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8.  vLj;Jf;fhl;ilg; ghu;j;J khwpapUf;Fk; nrhw;fis xOq;FgLj;jpr; 
nrhy;ypaq;fs;   Mf;Ff. 

 v.fh.:   ehd;F / MFk;  / gUtfhyq;fs;  

         ____________________________________________________________________ 

 

1. fiyfs; / jUk; / kfpo;r;rpiaj; 

___________________________________________________________________________ 

2. Xtpak; / tiufpwhs; / epyh 

 ___________________________________________________________________________ 

3. rpwe;j / rq;fpypad; / tPud; 

 ___________________________________________________________________________ 

4. tpisahLthu;fs; / kfpo;r;rpahf / rpWtu;fs; 

 ___________________________________________________________________________ 

5. jkpo; / gbg;Nghk; / ehk; 

 ___________________________________________________________________________ 

                  

 

 

 

 

 

 

 

 

 

 

 

5 x  2  = 10 Gs;spfs; 

gUtfhyq;fs; ehd;F MFk;. 
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                   gFjp 2 

       thrpj;jYk; tpsq;fpf;nfhs;SjYk; 

    fPo;f;fhZk; glj;ijg; ghu;j;J tpdhf;fSf;F tpil vOJf. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
1.  nghUj;jkhd glq;fspd; ,yf;fq;fis milg;Gf;Fwpf;Fs; vOJf. 
  
 

       v.fh.:  vopyp ghl;Lg; ghLfpwhs; (  1   ) 

 

1. khwd; Fspf;fpwhd;. (      )  

2. khjtp fapW mbf;fpwhs;. (      ) 

3. ,dpah eldk; MLfpwhs;. (      ) 

4. NrNahd; jz;zPu; Fbf;fpwhd;.  (   ) 

5. Xtpah czT cz;Zfpwhs;. (      ) 

  5 x  1  = 5 Gs;spfs; 
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2.  rupahapd; () vdTk;  gpioahapd; () vdTk; milahsk; ,Lf. 

 
  v.fh.:  vopyp rptg;G epwg; ghthil mzpe;Js;shs;.  (    )  

1. eldk; MLgtu; ,dpah. (     ) 

2. khwd; ePr;ry; jlhfj;jpy; ePe;Jfpwhd.; (     ) 

3. khjtp kQ;rs; epw Mil mzpe;Js;shs;. (     )  

4. NrNahd; ePyepwf; fhw;rl;il mzpe;Js;shd;. (     ) 

5. ,dpah ryq;if mzpe;Js;shs;. (     )  

 

  

 

 

 

 

 

 

 

5 x  2 = 10 Gs;spfs; 
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gzpafg; gad;ghl;Lf;F kl;Lk; 

 

 

 KOg;ngau; ifnahg;gk; 

Kjyhk; Kiw   

,uz;lhk; Kiw   

Nkw;ghu;itahsu;   

 
tpdh vz; 

 
Gs;spfs; 

 
Kjyhk; 
Kiw 

 
,uz;lhk; 

Kiw 

 
,Wjpg; 
Gs;spfs; 

 

                  vOJjy; 

1   10    

2 04    

3 05    

4 10    

5 10    

6 10    

7 06    

8 10    

        thrpj;jYk; tpsq;fpf;nfhs;SjYk; 

1   05    

2   10    

 nkhj;jg; 
Gs;spfs; 
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